'O\(\G\Q‘VQY 5 \)J\n\%ebmrdm\@) \Ze/u\fz/u\)\

\. Sol\vg \0\5 (‘ac)roﬁ\r\s.

. vy
a)-\q ')LLJr/i)c =0 I\ X > 20
Loz, 2. - L 3/(07_"—17-_:0
wW*tgr [ v 2
L(3ox*-\"0
-}_-‘(7("-\- 2x-M4)=0 2

A (b FN(bx-1N=0
_\q(m'«tp\(ﬁc-'-ﬂ:O 2

a3

0 R
& — 20=0
Q) 05%* -5 Etu=0 o./\("ﬂ‘—stlymg)_ocx‘_;‘:ﬁxz“(_\%x £u%)

2 ) o] + 10
( -‘O'XZ’?/O*J(\’S):O a2 -0 -20=0

S(40) = 200 )
g% -64xho =0 / \ @ -3(*4)=0
Sx? -60x% -Hx ¥4 0=0 -50 [('xzs,q'x)-s]"_(*xz-\r\—t’ﬂ-\"-i]:O
- o) - = 7,.\,q—)¢-55('x7'-\—%‘x+\-\):0
~(X=-10)-H (X “10)=0 (X | =0
(SS‘X -4y (x-10) =0 (’X+5\QL’*)('X‘+Z)(/‘X-\"L§«O
Gl v
2. Winte o oB\Joxc&chr\‘c Q%ucm'm\ with he gw'em oo+t -
N '
o) 2, -5 7 \D\ 2.\\ S
=17 X=-% )(-.—.5_ X—‘Bg'o
X-2=0 X%¥3%:=0 : S X
- X¥5)=0 LN ¥\=0
(e O (2 x4+ (X -8 =0
A* $2%-2X - =0 Vo o £ 520
[x*+x-t=o| T%* 1% -5 = 0\
\ d) ©
D 0IG oo x=5
X=0 >(:l"l X-5:0 X-5=0
x+0=0 H"x=|  (x-9)(x-$)=0
4%-1=0 3 G -5y 135 20
~A(4x-11=0

(ax® —% =0\ [x*-lox+2%=0




3, Solve by facton COW\(J\’CJWWj the SQuave o \)&nrxej the

guadrai C Aovivu -

@) 2x (X r) = -\, H(z)-2 |
. O e ) (X&) =2 (x-8)
X"y B8x =0 X2 by = 1% —\b
2 pE
X+ 44X +3 =0 ~x% -g%x +\0 =0
2 -4y +3%:=0 —
(X% aux +H) Y @L
\‘/‘X:_?ﬂ_ -1=0 J \ |
('x"')—\z'( - -3 %= -\
x+7_—-» \ZjC—] |
ANVZK = x- N (2x-1)> =23 = (x-2)0x1)
FA
({B-20=0- 1 (2x “OM2x-D-3= XZ-2x-*%+2
2 - = (%=X -V O 1 TR SRt i
2\ %z X% ¥ '-lx‘;um—z'—xhra«—?.:o
B1-x = XT -2 o FRRRDN
-3 + X «x -3\ = \-—“—\ =
- - RY o -
0= %* =% =30 A= L\\' (- -4 (D ()
O = (X~ 6K 2(%) 3
—d v =\ % 'x X =
A. Find xzel [x>5l AEALLE -\ '1\
l. Find ¥ne valu € ot e dischmnoant Q\nxy WS 14 40 detremine

e number s€ Sel NS KR -Yac

AU X* +B X N\L=0 W2y -SY 4= 0 S) X**Ux -\ =0
azy b=8 c=\1 a=3%Yv=-5 ¢c=lb &=\ b=4 C=-\
br-Yac ';bz' -“Hac b*-Uac
EPRSIENC el S TO B
Lot -\ - =25 It T
'..‘\7—8 =;—t\-\’l Kve =20

't ‘wja’ v Q?os’\ﬁve

r\qw\'ﬂ/t o roots! .2 vootS

) rookS‘-



